Day 8

Thursday, September 07, 2017
12:06 PM

Plan

. Warm-up: Toolkit Quiz

II. Goover HW
1. 1.6 Notes - Operations and Composition
Iv. Start HW

After the quiz:
Draw the following graphs.
1. f(x) = 2x 2. g(x) = x*

3. f)+g9(X) 4. f(x) —g(x)

5. f(x) - g(x) = 6. g—g% -2
7. fgG)- 2 (+) . 4]
T’

All functions are a composition of basic functions. Identify the parent
function combined to form each complex function.

1. f(x) = v¥3x—5 Pave_nk = dx

2. g(x) = (logx)?  povent = %

The composition of function f with function g is defined by

(f e 9)(x) = f(g(x))
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| EXAMPLE 2 Compose Two Functions

| A.Given f(x) = 2x* -1 and g(x) = x + 3, find [f > g](x).
f 2( x+3 Y~
2(x 3 )(x+3)—]

?_(X”“f-QX +qY -
2_)(‘:(-!?,{'!'-/5"1

x el x .‘-f?-
B. Given f(x) = 2x?> -1 and g(x) = x + 3, find [g ¢ f](x).
(Zx =1 ) #3

(z2x? Jr?_

C. Given f(x) = 2x? -1 and g(x) = x + 3, find [f o g](2).

G(2) = (2)+3°F
sy = 260144

Example 3a: State the domain of f(x) = — and gx) =x%2-09,

Xf’ ’l H'\

Find [f o g](x) and state it's domain.
— 1) X%8 £0
(x-9) + %P X* *
X #3207

-‘ ?x[ X #3q{z, xe(ﬁj )
Example 3b: State the domain of f(x) = x? — 2 and g(x) = Vx — 3.

|8 X-370
Find [f o g](x) and state it's domain. x> 3
mt“ﬂ L\N‘ B =1 Jom@&n 4 b
U

E‘E ./) X*’S b 7
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A
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EXAMPLE 4 Decompose a Composite Function

A. Find two functions f and g such that h(x) =[f - g|(x)

when h(x) = — ! _. Neither function may be the
(x+2)
identity function f(x) = x.
By = xlz g(x) = X+ L

B. Find two functions fand g such that h(x) = [f - g|(x)

when h(x) = 3x? - 12x + 12. Neither function may
be the identity function f(x) = x.
hix) = 3(x*-9x+4)

£(x) =3x% glx)=x*-dxty
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